网络优先数字出版时间:2014-06-10

网络优先数字出版地址:http://www.cnki.net/kcms/doi/10.13656/j.cnki.gxkx.20140610.003.html

# Structures of Grouplike Coalgebras\* 群像余代数的结构研究

ZHAO Ru-ju, REN Bei-shang, XIA Jia-yi, JIANG Miao-hao 赵汝菊, 任北上, 夏嘉艺, 江妙浩

(College of Mathematicas and Statistics Sciences, Guangxi Teachers' Education University, Nanning, Guangxi, 530023, China)

(广西师范学院数学与统计科学学院,广西南宁 530023)

**Abstract:** In this paper, we investigate the sructures of grouplike coalgebras K[S] and K[G], where S is a non-empty set and G is a monoid whose identity e is the only invertible element of G, and obtain the conclusion that the K-linear isomorphism  $K[G \times G'] \simeq K[G] \otimes K[G']$  defined by  $f'(g,g') = g \otimes g'$ , for all  $g \in G, g' \in G'$  is an isomorphism of coalgebra.

Key words: grouplike coalgebra, tensor product, isomorphism of coalgebra

摘要:研究群像余代数 K[S] 和 K[G] 的结构,其中 S 是一个非空集合, G 是一个只有单位元和逆元的幺半群,得到结论:对任意  $g \in G, g' \in G'$ ,定义  $f'(g,g') = g \otimes g'$ ,则线性同构  $k[G \times G'] \simeq k[G] \otimes k[G']$  是余代数同构.

关键词:群像余代数 张量积 余代数同构

中图分类号:O153.3 文献标识码:A 文章编号:1005-9164(2015)02-0228-03

### 0 Introduction

In this paper, K is a field, and it is well known that for any non-empty set S the K-vector space C = K[S] (reference [1]), with basis S is a coalgbra whose comultiplication and counit are defined by

$$\Delta_C(s) = s \otimes s, \varepsilon_C(s) = 1$$
, for all  $s \in S$ .

Let G be a monoid whose identity e is the only invertible element of G, and all  $g \in G$  have only finitely many factorizations g = ab where  $a, b \in G$ . There may be other ways of putting a coalgebra structure

on the K - module  $M = K \lceil G \rceil$  (reference  $\lceil 1 \rceil$ ). It is also a coalgebra whose comultiplication and counit are defined by

$$\Delta_{\mathrm{M}}(g) = \sum_{ab=g} a \otimes b$$
 ,  $\varepsilon_{\mathrm{M}}(g) = \delta_{g,e}$  , for all  $g \in G$  .

Let  $\{\alpha = \{\alpha_i\}, i \in I\}$  be a basis of K-vector space V, by putting a coalgebra structure on it, V forms a coalgebra and  $\Delta(\alpha_i) = \alpha_i \otimes \alpha_i$ ,  $\varepsilon(\alpha_i) = 1$ , for all  $\alpha_i \in \alpha$ . This coalgebra is called grouplike colalgebra. So K[S] and K[G] are grouplike colalgebras.

Let I be a K - subspace of K[S], then I is a coideal of K[S] if  $\triangle_C(I) \subseteq I \otimes K[S] + K[S] \otimes I$  and  $\varepsilon_C(I) = 0$ . Moreover, if C' is a K - subspace of K[S] and  $\triangle_C(C') \subseteq C' \otimes C'$ , then C' is a subcoalgebra of K[S]. By using K -linear map, we can discuss the morphism of coalgebra. Let  $(C, \Delta_C, \varepsilon_C)$ ,  $(D, \Delta_D, \varepsilon_D)$  be two K -coalgebras. The K -linear map  $f:C \to D$  is a morphism of coalgebra if  $\Delta_D f = (f \otimes f)\Delta_C$  and  $\varepsilon_D f = \varepsilon_C$  (reference[2]).

收稿日期:2014-04-05 修回日期:2014-09-21

作者简介:赵汝菊(1990-),女,硕士研究生,主要从事 Hopf 代数的研究

\*广西自然科学基金项目(2011GXNSFA018144),2012 年度新世纪广西高等教育教学改革工程立项项目(2012JGA162)和广西研究生教育创新计划项目(JGY2014092)资助。

## The sructure of K[S]

In this section, we determine the coideals, subcoalgebras, quotients, Cartensian products[3] and tensor products  $^{[4,5]}$  of grouplike coalgebra K[S], where S is a non-empty set. Let S and T are nonempty sets, from the K -linear isomorphism  $K \llbracket S imes$  $T] \simeq K[S] \otimes K[T]$  , we obtain an isomorphism of coalgebra.

**Proposition 1. 1**<sup>[1,2]</sup> For any non-empty S and any  $s, s' \in S, K(s - s')$  is a coideal of K[S].

So  $C_1$  is a coideal of  $K \lceil S \rceil$ .

**Proposition 1. 2**<sup>[1,2]</sup> Every subcoalgebra of K[S] has the form K[S'], where S' is a subset of S.

From this, it follows that for any subcoalgebra C' of K[S] and any element  $c_i' = \sum k_{ij} s_{ij}$ ,  $k_{ij} \in K$ ,  $s_{ij}$  $\in S$  , we have  $\Delta_{\mathcal{C}}(c_i{}') \subseteq C' \otimes C'$  . Let  $S' = \{s_{ij}\}$  , K[S'] is a K -subspace of K[S].

**Proposition 1.3** Every quotient of K[S] is also grouplike coalgebra.

**Proof** Let *I* be a coideal of C = K[S], then C/Iis a coalgebra over K defined by  $\overline{\triangle_C}(s) = \overline{\triangle_C(s)} =$  $\overline{s \otimes s} = \overline{s} \otimes \overline{s}, \overline{\epsilon_C(s)} = \overline{\epsilon_C(s)} = \overline{1}$ , for any  $\overline{s} \in \overline{S} = S +$ I. We only need to prove that C/I is a coalgebra. For any c = C/I,  $c = \sum_i k_i s_i$ , we can get

$$(\overline{\triangle_{C}} \otimes 1) \overline{\triangle_{C}}(\overline{c}) = (\overline{\triangle_{C}} \otimes 1) \overline{\triangle_{C}}(\overline{s_{i}}) = \sum k_{i}(\overline{\triangle_{C}} \otimes 1) \overline{\triangle_{C}}(\overline{s_{i}})) = \sum k_{i}(\overline{\triangle_{C}} \otimes 1) \overline{\triangle_{C}}(\overline{s_{i}}) = \sum k_{i}(\overline{\triangle_{C}} \otimes 1) \overline{a_{C}}(\overline{s_{i}}) \otimes \overline{s_{i}}) = \sum k_{i}(\overline{s_{i}} \otimes \overline{s_{i}} \otimes \overline{s_{i}}) = \sum k_{i}(\overline{s_{i}} \otimes \overline{\Delta_{C}}(\overline{s_{i}})) = (1 \otimes \overline{\triangle_{C}})(\sum k_{i}(\overline{s_{i}} \otimes \overline{s_{i}})) = (1 \otimes \overline{\triangle_{C}}) \overline{\triangle_{C}} \cdot (\sum k_{i}\overline{s_{i}}) = (1 \otimes \overline{\triangle_{C}}) \overline{\triangle_{C}}(\overline{c}).$$

The coassociation is checked. The second condition from the definition of coalgebra is equivalent to that

$$(1 \otimes \overline{\varepsilon_C}) \, \overline{\triangle_C(c)} = (1 \otimes \overline{\varepsilon_C}) \, \overline{\triangle_C}(\sum k_i \, s_i) =$$

 $\sum k_i \overline{\varepsilon_C}(\overline{s_i}) \overline{s_i} = \sum k_i \overline{s_i} = \overline{c}.$ 

Similarly,  $(\overline{\epsilon_c} \otimes 1) \overline{\triangle_c}(\overline{c}) = \overline{c}$ . So the proof is complete.

**Lemma 1.1** For any non-empty sets S and T,  $K \llbracket S imes T 
rbracket$  is a grouplike coalgebra defined by  $\Delta_{S\times T}((s,t)) = (s,t) \otimes (s,t), \varepsilon_{S\times T}((s,t)) = 1$ , for all s  $\in S, t \in T$ .

**Proof** For any  $a \in K[S \times T]$ ,  $a = \sum k_{ij}$  ( $s_i$ ,

$$t_{j}), k_{ij} \in K, s_{i} \in S, t_{j} \in T,$$

$$(1 \otimes \Delta_{S \times T}) \Delta_{S \times T}(a) =$$

$$(1 \otimes \Delta_{S \times T}) \Delta_{S \times T}(\sum k_{ij}(s_{i}, t_{j})) =$$

$$\sum k_{ij} (1 \otimes \Delta_{S \times T}) ((s_{i}, t_{j}) \otimes (s_{i}, t_{j})) =$$

$$\sum k_{ij} ((s_{i}, t_{j}) \otimes \Delta_{S \times T}((s_{i}, t_{j}))) =$$

$$\sum k_{ij} (s_{i}, t_{j}) \otimes (s_{i}, t_{j}) \otimes (s_{i}, t_{j}) =$$

$$\sum k_{ij} (\Delta_{S \times T} \otimes 1) ((s_{i}, t_{j}) \otimes (s_{i}, t_{j})) =$$

$$(\Delta_{S \times T} \otimes 1) \Delta_{S \times T}(\sum k_{ij}(s_{i}, t_{j})) =$$

$$(\Delta_{S \times T} \otimes 1) \Delta_{S \times T}(a).$$
Showing that  $\Delta_{S \times T}$  is coassociative. We also

Showing that  $\Delta_{S\times T}$  is coassociative. We also have

$$(1 \otimes \varepsilon_{S \times T}) \Delta_{S \times T}(a) = \sum_{i=1}^{n} k_{ij} (1 \otimes \varepsilon_{S \times T}) ((s_i, t_j) \otimes (s_i, t_j)) = \sum_{i=1}^{n} k_{ij} (s_i, t_j) = a.$$

Analogously,  $(\varepsilon_{S\times T} \otimes 1)\Delta_{S\times T}(a) = a$ . So  $K[S\times T]$  is a grouplike coalgebra.

**Lemma 1.2** For any non-empty sets S and T,  $K[S] \otimes K[T]$  is a grouplike coalgebra defined by  $\Delta_{S\otimes T}(s\otimes t)=s\otimes t\otimes s\otimes t, \varepsilon_{S\otimes T}=1, \text{ for all } s\in S,$  $t \in T$ .

**Proof** For any  $a' \in K[S] \otimes K[T], a' = (\sum k_i)$  $(s_i) \otimes (\sum l_j t_j) = \sum k_i l_j (s_i \otimes t_j) k_i, l_j \in K, s_i \in S,$  $t_i \in T$  . From the definition of  $\Delta_{S \otimes T}$  and  $\varepsilon_{S \otimes T}$  ,it follows that

$$(1 \otimes \Delta_{S \otimes T}) \Delta_{S \otimes T}(a') =$$

$$(1 \otimes \Delta_{S \otimes T}) \Delta_{S \otimes T}(\sum k_{i} l_{j}(s_{i} \otimes t_{j})) =$$

$$\sum k_{i} l_{j}(1 \otimes \Delta_{S \otimes T})(s_{i} \otimes t_{j} \otimes s_{i} \otimes t_{j}) =$$

$$\sum k_{i} l_{j}(s_{i} \otimes t_{j}) \otimes \Delta_{S \otimes T}(s_{i} \otimes t_{j})) = \sum k_{i} l_{j}(s_{i} \otimes t_{j})$$

$$t_{j} \otimes s_{i} \otimes t_{j} \otimes s_{i} \otimes t_{j}) = \sum k_{i} l_{j}(\Delta_{S \otimes T} \otimes 1)((s_{i} \otimes t_{j})) \otimes (s_{i} \otimes t_{j})) = (\Delta_{S \otimes T} \otimes 1)\Delta_{S \otimes T}(\sum k_{i} l_{j}(s_{i} \otimes t_{j})) = (\Delta_{S \otimes T} \otimes 1)\Delta_{S \otimes T}(s_{i} \otimes t_{j})$$

$$(1 \otimes \varepsilon_{S \otimes T})\Delta_{S \otimes T}(a') = \sum k_{i} l_{j}(1 \otimes t_{j} \otimes t_{j})$$

 $\varepsilon_{S\otimes T}$ )( $(s_i \otimes t_j) \otimes (s_i \otimes t_j)$ ) =  $\sum k_i l_j (s_i \otimes t_j) = a'$ .

Similarly,  $(\varepsilon_{S \otimes T} \otimes 1) \Delta_{S \otimes T}(a') = a'$ . So  $K[S] \otimes 1$ K[T] is a grouplike coalgebra.

The construction of coalgebra described above behaves well with respecting to morphism. From Lemma 1. 1 and Lemma 1. 2, it is no difficult to observe the following theorem.

**Theorem 1.1** The K-linear isomorphism  $K \lceil S \rceil$  $\times T$ ]  $\simeq K[S] \otimes K[T]$  defined by  $f((s,t)) = s \otimes t$ , for all  $s \in S, t \in T$  is isomorphism of coalgebra.

**Proof** We show that f is a coalgebra map. For

any 
$$a \in K[S \times T]$$
,  $a = \sum k_{ij}(s_i, t_j)$ ,  $k_{ij} \in K$ ,  $s_i \in S$ ,  $(g_3, g_3') \otimes (g_4, g_4') = k \sum_{g_1 g_3 = g_5} (\Delta_{G \times G}((g_5, t_i)) + (g_5, t_i) = k \sum_{g_1 g_3 = g_5} (\Delta_{G \times G}((g_5, t_i)) + (g_5, t_i) = k \sum_{g_1 g_3 = g_5} (\Delta_{G \times G}((g_5, t_i)) + (g_5, t_i) = k \sum_{g_1 g_3 = g_5} (\Delta_{G \times G}((g_5, t_i)) + (g_5, t_i) = k \sum_{g_1 g_3 = g_5} (\Delta_{G \times G}((g_5, t_i)) + (g_5, t_i) = k \sum_{g_1 g_3 = g_5} (\Delta_{G \times G}((g_5, t_i)) + (g_5, t_i) = k \sum_{g_1 g_3 = g_5} (\Delta_{G \times G}((g_5, t_i)) + (g_5, t_i) = k \sum_{g_1 g_3 = g_5} (\Delta_{G \times G}((g_5, t_i)) + (g_5, t_i) = k \sum_{g_1 g_3 = g_5} (\Delta_{G \times G}((g_5, t_i)) + (g_5, t_i) = k \sum_{g_1 g_3 = g_5} (\Delta_{G \times G}((g_5, t_i)) + (g_5, t_i) = k \sum_{g_1 g_3 = g_5} (\Delta_{G \times G}((g_5, t_i)) + (g_5, t_i) = k \sum_{g_1 g_3 = g_5} (\Delta_{G \times G}((g_5, t_i)) + (g_5, t_i) = k \sum_{g_1 g_3 = g_5} (\Delta_{G \times G}((g_5, t_i)) + (g_5, t_i) = k \sum_{g_1 g_3 = g_5} (\Delta_{G \times G}((g_5, t_i)) + (g_5, t_i) = k \sum_{g_1 g_3 = g_5} (\Delta_{G \times G}((g_5, t_i)) + (g_5, t_i) = k \sum_{g_1 g_3 = g_5} (\Delta_{G \times G}((g_5, t_i)) + (g_5, t_i) = k \sum_{g_1 g_3 = g_5} (\Delta_{G \times G}((g_5, t_i)) + (g_5, t_i) = k \sum_{g_1 g_3 = g_5} (\Delta_{G \times G}((g_5, t_i)) + (g_5, t_i) = k \sum_{g_1 g_3 = g_5} (\Delta_{G \times G}((g_5, t_i)) + (g_5, t_i) = k \sum_{g_1 g_3 = g_5} (\Delta_{G \times G}((g_5, t_i)) + (g_5, t_i) = k \sum_{g_1 g_3 = g_5} (\Delta_{G \times G}((g_5, t_i)) + (g_5, t_i) = k \sum_{g_1 g_3 = g_5} (\Delta_{G \times G}((g_5, t_i)) + (g_5, t_i) = k \sum_{g_1 g_3 = g_5} (\Delta_{G \times G}((g_5, t_i)) + (g_5, t_i) = k \sum_{g_1 g_3 = g_5} (\Delta_{G \times G}((g_5, t_i)) + (g_5, t_i) = k \sum_{g_1 g_3 = g_5} (\Delta_{G \times G}((g_5, t_i)) + (g_5, t_i) = k \sum_{g_1 g_3 = g_5} (\Delta_{G \times G}((g_5, t_i)) + (g_5, t_i) = k \sum_{g_1 g_3 = g_5} (\Delta_{G \times G}((g_5, t_i)) + (g_5, t_i) = k \sum_{g_1 g_3 = g_5} (\Delta_{G \times G}((g_5, t_i)) + (g_5, t_i) = k \sum_{g_1 g_3 = g_5} (\Delta_{G \times G}((g_5, t_i)) + (g_5, t_i) = k \sum_{g_1 g_3 = g_5} (\Delta_{G \times G}((g_5, t_i)) + (g_5, t_i) = k \sum_{g_1 g_3 = g_5} (\Delta_{G \times G}((g_5, t_i)) + (g_5, t_i) = k \sum_{g_1 g_3 = g_5} (\Delta_{G \times G}((g_5, t_i)) + (g_5, t_i) = k \sum_{g_1 g_3 = g_5} (\Delta_{G \times G}((g_5, t_i)) + (g_5, t_i) = k \sum_{g_1 g_3 = g_5} (\Delta_{G \times G}($ 

$$egin{aligned} & arepsilon_{S \otimes T} f(a) = arepsilon_{S \otimes T} f(\sum k_{ij}(s_i,t_j)) = \ & \sum k_{ij} arepsilon_{S \otimes T} f((s_i,t_j)) = \sum k_{ij} arepsilon_{S \otimes T} (s_i \otimes t_j) = \ & \sum k_{ij} = \sum k_{ij} arepsilon_{S \times T} ((s_i,t_j)) = arepsilon_{S \times T} (\sum k_{ij}(s_i,t_j)) = \ & arepsilon_{S \times T} (a). \end{aligned}$$

Moreover,

$$(f \otimes f)\Delta_{S \times T}(a) = (f \otimes f)\Delta_{S \times T}(\sum k_{ij}(s_i, t_j)) = \sum k_{ij}(f \otimes f)((s_i, t_j) \otimes (s_i, t_j)) = \sum k_{ij}((s_i \otimes t_j) \otimes (s_i \otimes t_j)) = \sum k_{ij}\Delta_{S \otimes T}f((s_i, t_j)) = \Delta_{S \otimes T}f(\sum k_{ij}(s_i, t_j)) = \Delta_{S \otimes T}f(a).$$

It is easy to check that f is bijective.

## 2 The sructure of K[G]

Let G is a monoid whose identity is the only invertible element of G, the K-space K[G] is group-like coalgebra with  $\Delta_M$  and  $\varepsilon_M$ . Similarly, we determine the Cartensian product and tensor product of K[G].

From theorem 1.1, it is easy to show that there also has isomorphism of coalgebra  $K[G \times G']$   $\simeq K[G] \otimes K[G']$ , where G and G' are monoids whose identity is the only invertible element.

**Lemma 2.1**  $K[G \times G']$  is grouplike coalgebra defined by

$$\Delta_{G \times G'}((g,g')) = \sum_{\substack{g_1g_2 = g \\ g'_1g'_2 = g'}} ((g_1,g_1') \otimes (g_2,g_2'))$$

 $(g_2'), \epsilon_{G \times G'}((g, g')) = \delta_{g, e_G} \delta_{g', e_{G'}}.$ 

**Proof** For any  $k(g,g') \in K[G \times G'], k \in K$ ,  $g \in G, g' \in G'$ ,

$$(1 \otimes \Delta_{G \times G'}) \Delta_{G \times G'}(k(g, g')) = k(1 \otimes$$

$$\Delta_{G \times G'} \Delta_{G \times G'} ((g, g')) = k(1 \otimes \Delta_{G \times G'}) (\sum_{\substack{g_1 g_2 = g \\ g'_1 g'_2 = g'}} (g_1, g_2)$$

$$g'_{1}) \otimes (g_{2}, g'_{2})) = k \sum_{\substack{g_{1}g_{2} = g \ g'_{1}g'_{2} = g'}} ((g_{1}, g'_{1}) \otimes \Delta_{G \times G'}((g_{2}, g'_{2}))) = k \sum_{\substack{g_{1}g_{2} = g \ g_{1}g_{2} = g}} ((g_{1}, g'_{1}) \otimes \Delta_{G \times G'}((g_{2}, g'_{2})))$$

$$g_3 g_4 = g_2$$

$$g'_{3}g'_{4} = g'_{2}$$

 $(g_3, g'_3) \otimes (g_4, g'_4) = k \sum_{g_1 g_3 = g_5} (\Delta_{G \times G'}((g_5))) = k \sum_{g_2 g_3 = g_5} (\Delta_{G \times G'}((g_5))) = k \sum_{g_2 g_3 = g_5} (\Delta_{G \times G'}((g_5))) = k \sum_{g_2 g_3 = g_5} (\Delta_{G \times G'}((g_5))) = k \sum_{g_2 g_3 = g_5} (\Delta_{G \times G'}((g_5))) =$ 

$$(g_5') \otimes (g_4, g_4') = k(\Delta_{G \times G'} \otimes 1) (\sum_{g_5 g_4 = g'} (g_5, g_5') \otimes (g_4, g_4')) = k(\Delta_{G \times G'} \otimes 1) (\sum_{g_5 g_4 = g'} (g_5, g_5') \otimes (g$$

 $g_{5}' \otimes (g_{4}, g_{4}') = k(\Delta_{G \times G} \otimes 1)\Delta_{G \times G}((g, g')) = (\Delta_{G \times G} \otimes 1)\Delta_{G \times G}(k(g, g')).$ 

We complete the coassociation law. The next equality following directly from the definition of counit.

$$(1 \otimes \varepsilon_{G \times G'}) \Delta_{G \times G'}(k(g,g')) =$$

$$k \sum_{g_1 g_2 = g} \Delta_{g_2, e_G} \Delta_{g'_2, e_{G'}} (g_1, g_1') = k(g, g').$$

$$g', g'_2 = g'$$

It is similar to show that  $(\epsilon_{G\times G'}\otimes 1)\Delta_{G\times G'}(k(g,g'))$ =k(g,g').

**Lemma 2.2**  $K[G] \otimes K[G']$  is grouplike coalgebra defined by

$$\Delta_{G\otimes G'}((g\otimes g')) = \sum_{\substack{g_1g_2=g\\g'_1g'_2=g'}} ((g_1\otimes g'_1)\otimes$$

$$(g_2 \otimes g_2')), \epsilon_{G \otimes G'}((g \otimes g')) = \delta_{g,e_G} \delta_{g',e_{G'}}.$$

**Proof** Now we show the coassociation law. For any  $kg\otimes lg'\in K[G]\otimes K[G']$ , k,  $l\in K$ ,  $g\in G$ ,  $g'\in G'$ ,

$$(1 \otimes \Delta_{G \otimes G'}) \Delta_{G \otimes G'}(kg \otimes lg') = kl (1 \otimes$$

$$\Delta_{G\otimes G'})\Delta_{G\otimes G'}((g\otimes g')) = kl(1\otimes$$

$$\Delta_{G\otimes G'}$$
)( $\sum_{\substack{g_1g_2=g\\ f'=g'}}$ ( $g_1\otimes g_1'$ )  $\otimes$  ( $g_2\otimes g_2'$ )) =

$$kl\sum_{g_1g_2=g} ((g_1 \otimes g'_1) \otimes \Delta_{G \otimes G'}((g_2 \otimes g'_2))) =$$

$$kl\sum_{g_1g_2=g}^{1}$$
  $(g_1\otimes g'_1\otimes g_3\otimes g'_3\otimes g_4\otimes g'_4)=$ 

$$g_1'g_2' = g'$$

$$g_3g_4 = g_2$$

$$kl\sum_{g_1g_3=g_5} (\Delta_{G\otimes G'}((g_5\otimes g_5'))\otimes (g_4\otimes g_4'))=$$

$$g'_{1}g'_{3} = g'_{5}$$
  
 $g_{5}g_{4} = g$ 

$${g'}_5{g'}_4 = {g'}$$

$$kl\left(\Delta_{G\otimes G'}\otimes 1\right)\left(\sum_{g_{_{5}}g_{_{4}}=g}\left(g_{_{5}}\otimes g_{_{5}}'\right)\otimes\left(g_{_{4}}\otimes g_{_{4}}'\right)\right)=$$

$$kl\left(\Delta_{G\otimes G'}\otimes 1\right)\Delta_{G\otimes G'}\left(\left(g\otimes g'\right)\right) = \left(\Delta_{G\otimes G'}\otimes 1\right)\Delta_{G\otimes G'}\left(kg\otimes lg'\right).$$

(下转第 236 页 Continue on page 236)

Guangxi Sciences, Vol. 22 No. 2, April 2015

105-110.

Wei L Y, Juan Z C, Jia H F. A simulation model for evaluating delay at signalized intersection under oversaturated situation[J]. Systems Engineering Theory & Practice, 2000(11):105-110.

[13] 邵长桥. 信号交叉口延误研究[D]. 北京:北京工业大学,2002:55-58.

Shao C Q. The Study of Signalized Intersection Delay [D]. Beijing: Beijing University of Technology, 2002: 55-58.

[14] 杨晓光,杨佩昆.信号灯控制交叉口停车线车辆延误模 拟算法[J].同济大学学报,1993(3):67-73.

Yang X G, Yang P K. Simulative models on signalized intersection stop-line delay[J]. Journal of Tongji University.1993(3):67-73.

[15] Whiting P D. The Glasgow Traffic Control Experi-

- ment: Interim Report on SIGOP and TRANSYT[R]. London, UK: Road Research Lab, 1972.
- [16] Brilon W, Ning W U. Delays at fixed-time traffic signals under time-dependent traffic conditions[J]. Traffic Engineering & Control, 1990, 31(12):623-631.
- [17] Catling I. A time-dependent approach to junction delays [J]. Traffic Engineering & Control, 1977 (18): 520-526.
- [18] 王建军,严宝杰.交通调查与分析[M].北京:人民交通出版社,2004:146-150.

Wang J J, Yan B J. Survey and Analysis of Traffic[M]. Beijing: China Communication Press, 2004:146-150.

(责任编辑:尹 闯)

(上接第 230 页 Continue from page 230)

Next, by the properties of  $\varepsilon_{G\otimes G'}$ , we can easily get  $(1 \otimes \varepsilon_{G\otimes G'})\Delta_{G\otimes G'}(kg \otimes lg')) =$ 

$$kl \sum_{\substack{g_1g_2 = g \\ g'_1g'_2 = g'}} \delta_{g_2.e_G} \delta_{g'_2.e_{G'}} (g_1 \otimes g'_1) = kl(g \otimes g') =$$

 $(kg \otimes lg')$ .

In the same way, we can show that  $(\varepsilon_{G\otimes G'}\otimes 1)\Delta_{G\otimes G'}(kg\otimes lg')=(kg\otimes lg')$ .

A similar result also holds when we cosider monoid as set. Therefore we can obtain the following inclusion immediately.

**Theorem 2.1** The K-linear isomorphism  $K[G \times G'] \simeq K[G] \otimes K[G']$  defined by  $f'((g,g')) = g \otimes g'$ , for all  $g \in G, g' \in G'$  is an isomorphism of coalgebra.

#### References:

- [1] Radford D E. Hopf Algebra[M]. London: World Scientific Publishing, INC, 2012: 20-34.
- [2] Dascalesu S. Hopf Algebra[M]. New York: Marcel Dekker, INC, 2011.
- [3] Fekake A E. Real Linear Algebra[M]. New York: Marcel dekker, INC, 1985.
- [4] Yokonuma T. Tensor Spaces and Exterior Aglebra[M]. New York: American Mathematical Society, 1992:7-26.
- [5] Ren B S, Xia J Y, Lin S X, et al. The weak Hopf aglebra structure on crossed coproduct [J]. Guangxi Sciences, 2012,19(4):309-312.

(责任编辑:尹 闯)